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5.a.—z. L =T xp where these are the radius and momentum vectors:
—
P

Put their tails together and apply the right hand rule. )
T

b. Sound is a vibration of the material it passes through. Radio waves are electromagnetic.

c. When farthest from equilibrium. By F = ma, acceleration is the most where force is the most. By
Hooke’s law, force is the most farthest from equilibrium.

d. Haif a year. - ‘ Ne— S7TALS  THE
fm +m SHME
" 1'-)& FOWR Tineg

3
._-1: N tual 4"52'0«.

T-= JE ( what it is now)
. Mention one of these two things: The molecules do not

- attract or repel each other.
- take up any space. (They are pointlike.)
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5.a. i. Same. Both are moving toward A at the same speed so both frequencies are raised the same
amount.

ii. Lower than. B is going away from C which lowers the pitch. D is approaching C which raises the
pitch.

Forces: Restoring force: tangential
string component of mg
b. tension
mg mg jme .

-— -

4

c. L =1Iw. Jupiter’s mass is so much farther from the axis around which it orbits that I is much larger
in spite of the smaller mass. (If you are wondering about Jupiter’s spin angular momentum, it is
extremely small compared to its orbital angular momentum.)

Constant p Constant W Canstant T
d. If you drew the third graph touching
either axis, this is incorrect. It is
similar to y = 1/x from algebra class PV nFLT PV nRT ~ nRT
and has asymptotes. N

Djrect prop nrtwn D].t’BCt prnpnmnn Inversé proportion

e. It's a trick question. There is nothing to compare. Sound can’t go through a vacuum because there
is nothing to vibrate. (I suppose you could argue that the speed of sound in a vacuum is zero, which
makes the answer “faster in air.” But, [ wouldn't.)



